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1 [KH9—1 HRE | KERREE _TH7E27 380, 000 482, 000 26. 8
kg 2—7—161

2 [ILHE9—2 WAGER [TIREEFALIUTHE 1 2% 1 2 380, 000 450, 000 18.4
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3 [{LHE9—3 WHER NLERRXREZTHOIE4 2 556, 000 649, 000 16.7
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4 | EEFI—1  [TIER |[HEHMNEE3ITH36%& 244 150, 000 175, 000 16.7
M3 —7—21J

5 WLAJII9—1  |HEHES [LAIXEREIT =T H6%2 5 406, 000 473, 000 16.5
FEs#EMT 3 —6 — 3]

6 |EIEL9—2 THER [ FREMmREXEEG 3% 2 110, 000 128, 000 16. 4

7 LHE9—1 HRH [VIEXHR—THG6 31%1 6454 475, 000 550, 000 15.8
FHrib1—13—9]

8 [Wi9—1 TR [RUbfiHRoe AT 47 AR—=272TH22 1% 14 176, 000 203, 000 15.3

9 BRI — 1  [MENR|[FRIETSI2 5% 100, 000 115, 000 15.0

10 (29 —2 TR (A EARTHA 5 4 3% 1 228, 000 262, 000 14.9
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2 [EZIL9—1  [KBF [ KERMEZILRER1TH 6% 84 158, 000 183, 000 15.8
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3 [HEE9 — 1 LeE UL o= T O XA 2 ] 2 89, 000 103, 000 15.7

4 |JelF9 — 2 LR JRRTEEINET 1 6% 45 160, 000 185, 000 15.6
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7 O|RHER O — 1 |REDE [T X ESRYN  TERT 1 0 8 & 185, 000 205, 000 10. 8

8 |[IRR9—1 A | RHES TR K AT AT 4 & 1 5130 1 % 105, 000 116, 000 10.5

9 |EHMAKI—1 [KIF |[EHEATERITHE2THS3 3% 82, 500 91, 000 10. 3
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10 [EME9—1 |H&N (R EHEBEFRED L 4% 21F0°6 % 90, 000 99, 000 10. 0




(fifiks . [ nd, ZEEE : %)

O Uk W=

. [Al CZEBY R CIANL A 57 % DI,

ANBUR 2R T O AL LD 6 D,

SRR &, AR, KBE, A RE RV D,
FORPE &%, E AR BT K 2 BER TR i b OV SR B A iy 23 e Tl BT RS O K20 9
RBPE &0, TP B A 1T K 2 BERCER 7 DX K O AR AR DXk 2 3 Te BT AT O I 9
AR &, R P SR 1 K 2 B TR X A S e TET AT O Xk A v 5
HOTHE &%, ZREDTTIE & bk < Ml A0 O

4 L= B - L ¥
NBAT | £ % M & = IOV oo FT 7E M A6 L E (A | S FITEE L HE RS | ZE) =R
M,/ nof M, of %
1 |BAm9—1 AEETNAEKEEHE 1 THG6 1% 165, 000 175, 000 6. 1
2 |ESr9—1 FINCTHVEETARE 1 6% 1 79, 500 83, 500 5.0
3 /M9 —2 INETETINR2 T H 6% 100, 000 105, 000 5.0
4 [¥E9—2 A RTHHERXER L TH7 3 1%&4+ 63, 500 66, 500 4.7
5 |HyE9 —1 YT FIET R ELE 2 2 & 34} 68, 000 71, 000 4.4
6 ([l —1 i T AL BF AT b AL 8 2 Ak 59, 500 62, 000 4.2
[ ER LI TARIGHTEHE) 1 83F 1 64, 000 66, 600 4.1
8 [MHr9—1 XA T/NETHTAFS T 5 1% 1 73,700 76, 600 3.9
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I | KEE9—1 U AEL RJREAT KBTI 1 5 7 6 & 1 32, 000 41, 500 29.7
2 [s5mo —1 FGu i S AR 1 1 2 6 & 7 20, 500 26, 500 20.3
3 [A&E9—301 [fE AEMRAETILTFT1600%3 28, 500 36, 000 26.3
4 |FL9—1 AR LT R N AT AL TE 24 47, 500 59, 000 24.2
5 [FEF9 —1 P& BN JEA KT AN 3 1 2% 2 11, 500 14, 000 21.7
6 |HE9—2 FERENT = KT AL N THAE4 0 9% 1 44, 000 53, 000 20.5
7 |EHEF9 — 2 METERFXEIT4THT7E35 104, 000 125, 000 20.2
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